Money

Objectives;

Describe money and describe its functions

Describe the monetary system

Describe the functions of the Bank of Canada

Money performs three vital functions:

Medium of exchange

Unit of account

Store of value

Medium of exchange is an object that is generally accepted in return for goods and services.

A unit of account is an agreed-upon measure for stating the prices of goods and services.

Any commodity or token that can be held and exchanged later for goods and services is called a store of value.

Official measures of money
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The bank of Canada is Canada’s central bank.

A central bank is a public authority that provides banking services to banks and regulates financial finstitutions and markets.

A central bank does not provide banking services to business and individual citizens. 

The Bank’s of Canada’s ultimate monetary policy objective is to keep inflation arete inside a target range of between 1 percent and 3 percent a year. 

By keeping the inflation rate steady and low, the Bank seeks to maintain full employment, moderate the business cycle, and contribute towards achieving faster and sustained economic growth.

Money creation and control
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the deposit multiplier is the number by which an increase in bank reserves is multiplied to find the resulting increase in bank deposits.

Change in deposits = deposit multiplier x change in reserves

In the previous example that we’ve just worked through, the deposit multiplier is 4. The $100,000 increase in reservis brought a $400 000 increase in deposits. 

Deposit multiplier = 


1






Desired reserve ratio

Deposit multiplier = 1 / 0.25 = 4

Money, interest and inflation

The demand for money is the total amount of money that the public wishes to hold for all purposes.

Three important services that are provided by money give rise to three motives for holding money: the transactions, precautionary and speculative motive.

The transactions motive

Most transactions require money. Money passes from households to firms to pay for the goods and services produced by firms; money passes from firms to households to pay for the factor services supplied by households to firms.

The larger the value of national income, the more transactions ar emade and thus the larger will be the value of transactions balances.

The precautionary motive

The precautionary arises because housholds and firms are uncertain about the timing of payments and receipts. 

The speculative motive

Money can laso be held to provide a hedge against the uncertainty innherent in fluctuating prices of other financial assets.

The speculative motive implies that the demand for money varies negatively with the interest rate.

The following shows the demand for money as a function of interest rates, income, and the price level.
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In referring to the demand for money, it is important to distinguish real from nominal val
ues. Real values are measured in purchasing power units; nominal values are measured
in money units.

First, consider the demand for money in real terms. This demand is the number of
units of purchasing power that the public wishes to hold in the form of money balances.
For example, in an imaginary one-product wheat economy, this demand would be mea.
sured by the number of bushels of what that could be purchased with the money balances
held. In a more complex cconomy, it could be measured in terms of the number of *bas.
kets of goods” represented by a price index, such as the Consumer Price Index, that
could be purchased with the money balances held. When economists speak of the deman
for money in real terms, they speak of the amount demanded in constant dollars:

‘The real demand for money is the nominal quantity demanded divided by the price
level.

For example, in the decade from 1989 to 1999, the nominal quantity of M2 balances
held in Canada increased from $295.7 billion to $410.1 billion, an increase of 38.7 pe:-
cent. Over the same period, however, the price level, as measured by the CPI, rose from 89.
t0 110.0—an increase of 23.4 percent. Such increases in the price level imply that the in-
crease in real money balances was much less than the increase in nominal money ba
ances. The real value of M2 increased by only 12.2 percent over that 10-year period.

Our discussion has identificd two fundamental determinants of the demand for rea
money balances—real GDP and the interest rate. But what is the role of the pricc leve.

A change in the price level does nor affect the demand for real money balances, but it does
affect the demand for nominal money balances.

To see why this is the case, consider the following example. Suppose real GDP and tne
interest rate were held constant but the price level doubled. Since real GDP is consta-r,
the real value of transactions will also be unchanged. The constant interest rate imples
that the opportunity cost of holding money is unchanged. Thus, the demand for re
money balances will be unaffected by the doubling of the price level. However, since

oods and services now cost twice as much as before in dollar terms, houscholds and fi-
will need to hold twice as many nominal dollars. That is, the doubling of the price I
will lead to a doubling of the rominal demand for money.

Other things being equal, the nominal demand for money balances varies in direct
portion to the price level.




Real money supply M0 = M/P (m is nominal quantity of money and P is the price level)
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Monetary equilibrium occurs when the quantity of money demanded equals the quantity of money supplied. 
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the transmission mechanism: a mechanism by which changes in the demand for and supply of money affect aggregate demand.

It operates in three stages: the first is le link between monetary equilibrium and the interest rate, the second is the link between the interest rate and investment expenditure, and the third is the link between investment expenditure and agregate demand.
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(ii) A shift in aggregate demand

Changes in the money supply cause shifts in the ag-
gregate expenditure and aggregate demand functions.
In Figure 27-4, an increase in the money supply in-
creased desired investment expenditure by AL In part
(i) of this figure, the aggregate expenditure function
shifts up by AI (which is the same as A[ in Figure 27-
4), from AE, to AE;. At the fixed price level Py, equi-
librium GDP rises from Y, to Yq, as shown by the
horizontal shift in the aggregate demand curve from
ADj to AD; in part (ii).
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The strength of the effect of a change in the money supply on investment and hence on ag-

sezate demand depends on the interest elasticity of both the demand for money and de-
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economy has an interest rate of ig and investment expenditure of Io. The central bank then

expands the money supply from Msy to Ms;. The rate of interest thus falls from i to iy, as

Pl iz cach of the left panels. This causes an increase in investment expenditure of AI, from
20 Iy, as shown in cach of the right panels.
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s is highly interest-elastic, so the large fallin interest raes also leads to a large increase
= avestment expenditure. Hence, in this case, the change in the money supply will be very
wective in stimulating aggregate demand.

In part (i, the demand for money is more interest-elastic, so the increase in the money
“woply leads to only a small fall in the interest rate. Further, desired investment expenditure
& meerest-inelastic, so the small fall in interest rates leads to only a small increase in invest-
men expenditure. Hence, in this case, the change in the money supply will be less cffective
= samulating aggregate demand.





Exercises
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